60-s bins

40_%
30

20
10 +

0 T T T

.00.000 .00.000 .00.000
18:20:0 18:30: 18:40:
202310301 231010T, 05310207
Time (utc)
60-s bins

40_%
30

20
10 +

0 T T T

.00.000 .00.000 .00.000
18:20:0 18:30: 18:40:
202310307 0531010TH 031007
Time (utc)
60-s bins

20

10 4

40_%
30

0 T T

.00.000 .00.000
18:20:0 18:30:
202310307 15310101 03100

Time (utc)

0‘\'18:40:00-000

Latitude

Latitude

Latitude

80902012004 FPMB: No SAA Filter

2.70-ks, 100%

—=
5.0
2.5 4
0.0
-2.5
-5.0 —\\
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=no

2.70-ks, 100%

—=
5.0
2.5 4
0.0
-2.5
-5.0 —\\
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=yes

2.70-ks, 100%

5.0 H
2.5 4
0.0 +
-2.5 o
—5.0

.

0 50

100

T T
150 200

Longitude

T
250

T
300

350

100

100

100

cts/sec

cts/sec

cts/sec



60-s bins
07 w
30 + )
©
2
20 E=}
©
1
10 4
0 T T T
100.000 000 0.000
§:20:000 §:30:00 2:40:0
0231010 03100078 510207
Tlme( tc)
60 sblns
40
30 + )
©
2
20 E=}
©
1
10 4
0
00
32 5:30:000 8:40:00-0
023 10- 10TL! 0 oTl 20 0231 olOﬂ
Tlme( C)
60-s bins
40
30 + )
©
2
20 E=}
©
1
10 4
0
18:40:00.00°

2 :30:00
023102078 0 o S0 o ot

Time (utc)

80902012004 FPMB: No SAA Filter ~ 2.70-ks, 100%
5.0 4
2.5 4
0.0 H
—2.5
-5.0 ‘\
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=no  2.25-ks, 83%
5.0 r—\\
2.5 4
0.0 l..\
—2.5
-5.0 ‘\
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=yes 2.25-ks, 83%
5.0 r—\\
2.5 4
0.0 l..\
—2.5
=5.0 ‘\
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

100

100

100

cts/sec

cts/sec

cts/sec



60-s bins
7 er
30 o
O
2
20 E=}
©
1
10 1
0 T T T
0
.20:00: .30:00- .40:00.00
10T18" 10T18: 10T18:
0231010 0231010757 231010
Time (utc)
60-s bins
7 er
30 o
O
2
20 E=}
©
1
10 1
0 T T T
0 000
.20:00. .30:00- .40:00.
10T18: 10718 40T18:
023-10-10 023102017 1531010
Time (utc)
60-s bins
40
30 o
O
2
20 E=}
©
1
10 1
0 T T T
0:00.000 130:00.000 20:00.000
718:20° 718:30° 718:40°
_023-10-10 207_3.10—10 7_07_3.10-10

Time (utc)

80902012004 FPMB: No SAA Filter

2.70-ks, 100%

5.0 o

2.5 1

0.0 +

_2.5 -
-5.0 ‘\

0

T T T T T
50 100 150 200 250

Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=no

T
300

2.70-ks, 100%

5.0 o

2.5 1

0.0 +

_2.5 -
-5.0 ‘\

0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=0OPTIMIZED --tentacle=yes 2.65-ks, 98%
5.0 4
2.5 4
0.0 H
—2.5
-5.0 ‘\
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

100

100

100

cts/sec

cts/sec

cts/sec



60-s bins

!

20

Latitude

10 4

0 T T T

.00.000 000 000
023-10-10T18 20522 00T83% 2(3) 10-10T18:40:0%

Tlme( tc)
60 sblns

40
30 1

L[

Latitude

20
10 4

0
0:00 0:00.00
(23102071825 0 oms Do o oaome

Tlme( C)
60-s bins

40
30 4

1T

Latitude

20
10 4

0
0:00 0:00.00
(23102071825 0 oms Do o oo

Time (utc)

N
n o

o
<)

-2.5

-5.0

5.0
2.5
0.0
-2.5

-5.0

5.0
2.5
0.0
-2.5

-5.0

80902012004 FPMB: No SAA Filter

2.70-ks, 100%

IO

0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=no  1.77-ks, 66%
\—* T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=yes 1.72-ks, 64%
\—* T T T T T T
0 50 100 150 200 250 300 350
Longitude

100

100

100

cts/sec

cts/sec

cts/sec



60-s bins
7 ML
30 o
O
2
20 E=}
©
1
10 1
0 T T T
0
.20:00: .30:00- .40:00.00
10T18: 10T18: 10T18:
023-10-10 023102017 531010
Time (utc)
60-s bins
7 ML
30 o
O
2
20 E=}
©
1
10 1
0 T T T
0 000
.20:00. .30:00- .40:00.
10T18: 10718 40T18:
023-10-10 023102017 1531010
Time (utc)
60-s bins
7 ML
30 o
O
2
20 E=}
©
1
10 1
0 T T T
0:00.000 130:00.000 20:00.000
718:20° 718:30° 718:40°
_023-10-10 207_3.10—10 7_07_3.10-10

Time (utc)

80902012004 FPMB: No SAA Filter

2.70-ks, 100%

5.0 o

2.5 1

0.0 +

_2.5 -
-5.0 ‘\

0

T T T T T
50 100 150 200 250

Longitude

--saacalc=3 -saamode=0PTIMIZED --tentacle=no

T
300

2.70-ks, 100%

5.0 o

2.5 1

0.0 +

_2.5 -
-5.0 ‘\

0

T T T T T
50 100 150 200 250

Longitude

--saacalc=3 -saamode=0PTIMIZED --tentacle=yes

T
300

2.70-ks, 100%

5.0 o
2.5 1

0.0 +

_2.5 -
-5.0 ‘\

0

T T T T T
50 100 150 200 250

Longitude

T
300

350

100

100

100

cts/sec

cts/sec

cts/sec



60-s bins

!

20

Latitude

10 4

0 T T T

.00.000 000 000
023-10-10T18 20522 00T83% 2(3) 10-10T18:40:0%

Tlme( tc)
60 sblns

40
30 1

L[

Latitude

20
10 4

0
0:00 0:00.00
(23102071825 0 oms Do o oaome

Tlme( C)
60-s bins

40
30 4

L[

Latitude

20
10 4

0
0:00 0:00.00
(23102071825 0 oms Do o oo

Time (utc)

N
n o

o
<)

-2.5

-5.0

5.0
2.5
0.0
-2.5

-5.0

5.0
2.5
0.0
-2.5

-5.0

80902012004 FPMB: No SAA Filter

2.70-ks, 100%

IO

0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=no  1.77-ks, 66%
\—* T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=yes 1.77-ks, 66%
\—* T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



